Decimalni brojevi – provera
1. 3,2/100 + 5.67 =
 4.702                        5.702                        5.502
2. Izračunaj: 5.6 ⋅ 5 =
 27                              25                             28
3. Izračunaj: 52.034 + 23.2 =
 75.234                         68.234                 75.434
4. Izračunaj: 45.82 − 0.35 =
 45.32                          34.47                     45.47
5. Izračunaj: 4789.37: 100 =
 47.8937                      47.8667
 47.9937                      45.8937
6. Izračunaj : 3.386 ⋅ 100 =
 338.8
 438.6
 338.6
7. Izračunaj: 0.36 : 10 =
 0.046
 0.036
 0.0036
8. Izračunaj: 3.8 ⋅1000 =
 38000
 3800
 3500
9. Izračunaj: 3.35−1.026 =
 2.324
 2.355
 3.324
10. Izračunaj: 2.03 ⋅ 3.4 =
 6.902
 5.902
 6.802
11. 3/8 : 2 =
 0.1875
 0.2375
 0.0875
12. 44.96 :1.6 =
 25.1
 27.1
 28.1
 28.2
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 2.5
 2.8
 2.3
 0,23

